

Location:

3006 Springs Industrial Dr. Powder Spring, GA 30127

Center for Testing & Engineering 99 Bledose Rd. Newnan, GA 30265 Tel.678 673 6270 Fax 678 621 0051 aj@ctega.com

Proposal for: Equipment, P

Equipment, Parts and supplies for the gas station, storage, Measurement and Dispensing of Petroleum Product. and installation

To: Mr. John Brown Tel. 770 943 8010

jbrown@cityofpowdersprings.org

Terms:

to be determined

Petroleum Parts 8/20/2020

Quantity	Description				
	Dispenser Package				
1	Bennett Pump 3000 model 3712SNR-22 fleet	\$6,913.00	\$13,826.00		
	two hoses, one product, two side, commercial				
	one inlet, and hose rtractor				
2	hose, nozzle, swivel, break away, whip hose 3/4" gas	\$200.00	\$400.00		
2	hose, nozzle, swivel, break away, whip hose 3/4" diesel	\$200.00	\$400.00		
	2 hose, nozzle, swivel, break away, whip hose 3/4" diesel Dispenser Fitting Package to Include				
2	OPW dispenser Sumps DS-1642 polyethylene	\$767.63	\$1,535.26		
2	Stabilizar bar kit SBK-1600	\$152.73	\$305.46		
2	1.5"x18" flex connector	\$149.00	\$298.00		
2	impact valve OPW	\$179.00	\$358.00		

Petroleum Parts

Quantity	Description		
	Tank Fitting Package To Include:		
2	OPW tanks sumps Polyethylene sumpwith mechanicalyy fastened cover medium bury MBS-3645H	\$896.00	\$1,792.00
2	4" Tank fitting adapter SMF-4E	\$369.00	\$738.00
2	4" tank riser	\$170.00	\$340.00
2	Vapporless leak detector LD2200	\$256.00	\$512.00
2	2" X24" flex connector	\$210.00	\$420.00
2	Ball valve 2"	\$160.00	\$320.00
1	set of fitting	\$320.00	\$320.00
2	manhole 42: composite cover	\$802.00	\$1,604.00
	RED JACKET SUBMERGED PUMP PACKAGE TO INCLUDE		
2	R/J-P150U1-RJ 3/4 HP STP WITH QUICK SET FEATURE	\$1,950.50	\$3,901.00
2	R/J-880-047-1 ISOTROL CONTROL BOX WITH RELAY	\$412.41	\$824.82
	Conduit, wire, and power Package		
	re-use existing		

Petroleum Parts

Quantity	Description	Price	Total
	Product line package include		
4	double wall fitting swivel DPC-2150A	\$189.00	\$756.00
2	fitting STF 1515 OPW	\$87.74	\$175.48
2	SEF -1515 OPW	\$84.65	\$169.30
50	C15A-500 OPW flex double wall pipe,,	\$25.00	\$1,250.00
2	Fitting SMA -1515	\$90.60	\$181.20
4	OPW 1 1/2" X4 doublewall entry boot rigid REF 4015	\$176.03	\$704.12
50	Flex work double layer access pipe 4"OPW	\$15.00	\$750.00
12	rigid entry boot Fitting 3/4" rigid conduit	\$76.51	\$918.12

	<u>Fuel master</u>		
	re-use existing		
	Tank Monitor package		
2	Veeder Root sump sensor only	\$420.00	\$840.00
2	riser 4"	\$149.00	\$298.00
	Concrete		
	pour concrete over disturbied area only	\$3,000.00	\$3,000.00 \$21,500.00 \$43,810.76
	installation and labor		
	installation & labor include material not listed,		\$21,500.00
	remove existing STP, install new sumps with STP,		
	Install new dispensers		
	install new dispenser sumps		
	repair conduit_		
	pour concrete over disturbing area		
	run products line from the existing island to tanks		
2	Total cost		\$43,810.76
	<u>Tax is not included</u>		
uantity	Description	Price	Total
	Installation to include		
	re use existing shielded wire for communicating		
	INSTALL LISTED TANK FITTINGS AND APT SUMPS		
	Install Red Jacket STP,		
	ELECTRICAL AS FOLLOWS: 2 SUBMERGED PUMPS, 2 DISPENSERS,		
	WITH SUMP SENSORS,		
	BACKFILL, COMPACT AND FORM EXCAVATED AREAS is include for conduit ditech that we excavated		
	conduct all required test and certify the facility		
	engineering drawing not included		
	city permit and fire marshel permit cost is not include		
	city permit and fire marshel permit cost is not include CONCRETE WORK AS FOLLOWING : only on the area that we disturbed		
	city permit and fire marshel permit cost is not include CONCRETE WORK AS FOLLOWING : only on the area that we disturbed All wire will be gas rated THHN		
	city permit and fire marshel permit cost is not include CONCRETE WORK AS FOLLOWING : only on the area that we disturbed		

PLEASE NOTE THE FOLLOWING

- 1-THIS QUOTE DOES NOT INCLUDE ANY COST RELATED TO CANOPY
- 2- THIS QUOTE IS BASED ON RUNNING THE NEW pipe lines
- 3-THIS QUOTE DOES NOT INCLUDE ANY COST FOR SOIL REMEDIATION
- 4- THIS PROPSAL DOES NOT INCLUDE ENGINEERED DRAWINGS IF NEEDED
- 5- all utility most be market before marked by owner before excavating begins
- 6- no work or replacement to dispenser island are included in our estimate, an extra will occur if needed
- 7- our estimate base on the assumption that you tanks are provided with 4" bungs on the top if not an extra will occur

I agree the prices and terms mentioned in this quotation

Name:

Signture

Date